

8 $(k+1)(k+2)(2k+9) =$
 $k(k+2)(2k+9) + (k+2)(2k+9)$
 $(k^2+3k+2)(2k+9) =$
 $2k^3+6k^2+4k+9k^2+27k+18 =$
 $2k^3+15k^2+31k+18$
 $2k^3+9k^2+7k + 6k^2+24k+18$
 מוסיפים 6 → נוסחה $+ 6(k^2+4k+3)$
 6 → נוסחה

$n = k+1$

נוסחה
 $k(k+1)(2k+7) =$
 $(k^2+k)(2k+7) =$
 $2k^3+2k^2+7k^2+7k =$
 $2k^3+9k^2+7k$
 6 → נוסחה

24 $7^{k+1} + 4 \cdot 2^{k+1} = 7 \cdot 7^k + 4 \cdot 2 \cdot 2^k = 7 \cdot 7^k + 8 \cdot 2^k$
 $= 7(7^k + 4 \cdot 2^k) - 5 \cdot 2^k \cdot 4$
 מוסיפים 5 → נוסחה $5 \rightarrow$ נוסחה

$n = k+1$

47 $7^{k+1} + 4^{k+1} + 7 = 7 \cdot 7^k + 4 \cdot 4^k + 7 =$
 $7(7^k + 4^k + 7) - 3 \cdot 4^k - 42$
 מוסיפים 18 → נוסחה $3 \rightarrow$ נוסחה $3 \rightarrow$ נוסחה

$n = k+1$

6 → נוסחה $4^k + 14 - 8$ מוסיפים 8
 $4^k + 14 - 8$
 $4^k + 14$
 $4^{k+1} + 14 = 4(4^k + 14) - 42$
 מוסיפים 6 → נוסחה $6 \rightarrow$ נוסחה

73 $1 + 9 + 9^2 + \dots + 9^{2k-1} + 9^{2k} + 9^{2k+1}$
 מוסיפים 10 → נוסחה $+ 9^{2k}(1+9)$
 מוסיפים 10 → נוסחה

$n = k+1$

87 $(2k-1)^4 - 1 = 16k^4 - 32k^3 + 24k^2 - 8k$
 מוסיפים 16 → נוסחה

$n = 2k-1$ היתה עולה (11/5)

$(2k+1)^4 - 1 =$
 $16k^4 + 32k^3 + 24k^2 + 8k$

$n = 2k+1$ היתה עולה

$16k^4 - 32k^3 + 24k^2 + 8k + 64k^3 + 16k$
 $16(4k^3 + k)$
 מוסיפים 16 → נוסחה